Algebra 2 Answer Transparencies
Copyright © McDougal Littell Inc.

ANSWERS FOR 2.2

For use with pages 79-81

2.2 Guided Practice
2. horizontal; vertical
1 . 3
4, 0 rises 6. X falls

8. 0; horizontal
10. Line 2 12. parallel
14. perpendicular

16. 52 km/h
2.2 Practice and Applications
1 1
18. —— 20. ——; fall
8 3 0 7 alls
22. — %; falls

24. 0; horizontal

26. L;rises 28. 2;rises

22 4
5
30. —E;falls 32. b
34. d

36. If a line is horizontal, only

the x-values will be different;
the y-values will remain the
same.

y—y _ 0 _
=2 -0V

If a line is vertical, only the
y-values will be different; the
x-values will remain the
same.

=2 = _—1; undefined
X — X 0

. Line 2 40. Line 1

. perpendicular

. neither 46. 4, RLE

Se€C

. 0.003
. Yes; each slanted half of the

roof rises 12 feet of its 36
feet of the apartment build-
ing’s width, which gives it a

12
slope of 6 3 the same

as the % required by the

building code.
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ANSWERS FOR 2.2 (CONT.)

For use with pages 79-81

2°F
h

b4. a. 18 ft
b. = 18.1 ft
c. = 30 ft

d. Sample answer: The
steeper the ramp, the
shorter it will be. If regu-
lation requires more run
for the amount of rise, the
ramp must get longer as it
did from answers (b) to
(c) above.

56. -1 58. 2

52. : 65°F

2.2 Mixed Review

60. associative property of
addition

62. multiplicative inverse
property

64. —2x — 11
5 2
-+ =
66 3 1Sx
1
68. 3,1
70. 60; 12
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